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HRA3—2 BEWIHAIILEESNLIERICEILEEA/2) BEFE | FRIEE
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Eg TREOBHOEILEADKES TREDHBESIENDRES TRFOBRHDEIEIDKES TREDOHBESIENDOKRES
e L S e sl B Bl vl sl sl R I el vl B =t Bl s
1 100kN/M%E#BZ 5 1.00]0.00 ~ 3.21 151.34|3m%#25| 000 ~ 0.22] 3.11 15.73| 100kN/m%Z#8 2 % 1.00] 10.55 ~ 31.23 151.34|3m%#8 25| 25.00 ~ 31.23| 3.11 15.73
ZFhs 1.00] 3.21 ~ 11.00 100.00| Z=xLkl4t 10.22 ~ 11.00] 3.00 15.16 ZhnLst 1.00] 5.00 ~ 10.55 100.00| Z=hList 5.00 ~ 25.00] 3.00 15.16
9 100kN/M%E#BZ 5 1.00{0.00 ~ 2.33 136.29| 3m%#B 25 ol ~ = = —| 100kN/m%E#8z % 1.00] 11.45 ~ 28.70 136.29| 3m%#Bzx 5% -~ = = =
ZFhs 1.00]2.33 ~ 10.11 100.00] Z=xLkl4t 10.00 ~ 10.11| 2.79 1412 ZhnLst 1.00] 5.00 ~ 11.45 100.00| Z=hList 500 ~ 28.70] 2.79 14.12
3 100kN/M&E#BZ % 1.00/0.00 ~ 2.65 141.68| 3mZE#BA 5% o ~ = - —| 100kN/m%E#8z % 1.00] 11.21 ~ 33.50 141.68| 3m%E#B 2% -~ = = =
ZFhs 1.00]2.65 ~ 10.43 100.00] Z=xLkl4t 10.00 ~ 10.43| 2.92 14.78 ZhnLst 1.00] 5.00 ~ 11.21 100.00| Z=hList 500 ~ 33.50| 292 14.78
4 100kN/M%E#BZ % 1.00{0.00 ~ 3.03 148.18| 3m%i#825%|0.00 ~ 0.02| 3.01 15.22| 100kN/m%Z#8Z % 1.00] 10.77 ~ 34.24 148.18| 3m%#8 25| 30.00 ~ 34.24| 3.01 15.22
ZFhst 1.00] 3.03 ~ 10.81 100.00] Z=xkl4t 10.02 ~ 10.81] 3.00 15.16 ZhnLst 1.00] 5.00 ~ 10.77 100.00| Z=hList 5.00 ~ 30.00f 3.00 15.16
5 100kN/M%E#BZ 5 1.00{0.00 ~ 3.05 148.54|3m%i#825|0.00 ~ 0.03] 3.02 15.25| 100kN/m%#8 2 % 1.00] 10.75 ~ 34.24 148.54| 3m%i8% %| 30.00 ~ 34.24| 3.02 15.25
ZFhs 1.00] 3.05 ~ 10.83 100.00] Z=xkl4t 10.03 ~ 10.83] 3.00 15.16 ZhnLst 1.00] 5.00 ~ 10.75 100.00| Z=hList 5.00 ~ 30.00f 3.00 15.16
6 100kN/M&E#BZ % 1.00{0.00 ~ 2.85 145.12| 3m%#B 25 ol ~ = = —| 100kN/m%E#8z % 1.00] 10.68 ~ 28.00 145.12| 3m%#B 2% -~ = = =
Zh st 1.00]2.85 ~ 10.64 100.00] Z=xLkl4t 10.00 ~ 10.64] 2.93 14.83 ZhnLst 1.00] 5.00 ~ 10.68 100.00| Z=hList 500 ~ 28.00] 293 14.83
7 100kN/M%E#BZ 5 1.00/0.00 ~ 2.88 145.56| 3m%E#B 25 ol ~ = = —| 100kN/m%E#8z % 1.00] 10.66 ~ 28.00 145.56|3m%EtBz2 5 -~ = = =
Fhst 1.0012.88 ~ 10.66 100.00| =+t 1| 0.00 ~ 10.66] 2.94 14.88 FhLst 1.00] 5.00 ~ 10.66 100.00| #hList 500 ~ 28.00] 294 14.88
8 100kN/m%#8Z % 1.00/0.00 ~ 1.78 127.41|3mZE#Z 5 -~ = — —| 100kN/m%E#BZ % 1.00] 12.61 ~ 28.83 127.41| 3m%E#BZ 5 o ~ - - =
Fhst 1.0011.78 ~ 957 100.00| Z#x 4t 1 0.00 ~ 957 2.70 13.63 FhLs 1.00] 5.00 ~ 12.61 100.00| #hList 500 ~ 2883| 2.70 13.63
9 100kN/m%#8 % % 1.00/0.00 ~ 2.19 134.00| 3m%#E %5 -~ = — —| 100kN/m%E#BZ % 1.00| 11.67 ~ 28.43 134.00| 3m%#B %% o ~ - - =
Fhst 1.0012.19 ~ 9.97 100.00| Z#x it | 0.00 ~ 9.97| 2.77 14.00 FhLs 1.00] 5.00 ~ 11.67 100.00| #hList 500 ~ 2843| 277 14.00
10 100kN/m%#8 % % 1.00/0.00 ~ 2.89 145.71| 3m%E#EZ 5 -~ = — —| 100kN/m%E#BZ % 1.00] 10.57 ~ 26.39 145.71| 3m%#B A% o ~ - - =
Fhst 1.00(12.89 ~ 10.67 100.00| Z#+x it | 0.00 ~ 10.67| 2.99 15.11 FhLst 1.00] 5.00 ~ 10.57 100.00| #hList 500 ~ 26.39] 299 15.11
11 100kN/m%#8 % % 1.00|0.00 ~ 3.27 152.31|3m%#E 225|000 ~ 0.15| 3.08 15.55| 100kN/m%Zi#B %5 1.00| 10.60 ~ 35.12 152.31|3m%##E 25| 30.00 ~ 35.12| 3.08 15.55
Fhst 1.0013.27 ~ 11.05 100.00| Z#x 4t 10.15 ~ 11.05] 3.00 15.16 FhLs 1.00] 5.00 ~ 10.60 100.00| #hList 5.00 ~ 30.00f 3.00 15.16
12 100kN/m%#8 % % 1.00]0.00 ~ 3.51 156.62| 3m%i#E 25| 000 ~ 1.26] 3.60 18.20| 100kN/m%Zi#B %% 1.00] 10.56 ~ 41.85 156.62| 3m%tEZx 5| 25.00 ~ 41.85] 3.60 18.20
Fhs 1.00]3.51 ~ 11.30 100.00| = li4t | 1.26 ~ 11.30] 3.00 15.16 FhLst 1.00] 5.00 ~ 10.56 100.00| #hList 5.00 ~ 25.00] 3.00 15.16
13 100kN/m%#8 % % 1.00/0.00 ~ 3.74 160.72| 3m%#E 25| 000 ~ 1.44| 3.72 18.82| 100kN/m%Zi#B %% 1.00] 10.56 ~ 42.29 160.72| 3m%# 25| 25.00 ~ 42.29| 3.72 18.82
Fhst 1.0013.74 ~ 11.52 100.00| = li4t | 1.44 ~ 11.52] 3.00 15.16 FhLst 1.00] 5.00 ~ 10.56 100.00| #hList 5.00 ~ 25.00] 3.00 15.16
14 100kN/m%#8 % % 1.00/0.00 ~ 3.70 160.07| 3m%#E 25| 000 ~ 1.37| 3.67 18.56| 100kN/m%Zi#B %% 1.00] 10.53 ~ 44.95 160.07|3m%Z#Ex %[ 25.00 ~ 4495 3.67 18.56
Fhs 1.00{13.70 ~ 11.49 100.00| #nlist | 1.37 ~ 11.49] 3.00 15.16 FhLs 1.00] 5.00 ~ 10.53 100.00| #hList 5.00 ~ 25.00] 3.00 15.16
15 100kN/m%#8 % % 1.00]0.00 ~ 3.61 158.40| 3m%#E 25| 000 ~ 1.30|] 3.62 18.32| 100kN/m%Zi#B %% 1.00] 10.54 ~ 44.95 158.40| 3m#%#E 25| 25.00 ~ 4495 3.62 18.32
Fhs 1.00| 3.61 ~ 11.39 100.00| =4t 11.30 ~ 11.39] 3.00 15.16 FhLs 1.00] 5.00 ~ 10.54 100.00| Zt kA4t 5.00 ~ 25.00] 3.00 15.16
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R oma | BT e | B2 | e | e | B2 | BT e | B2 | T | & | T
16 100kN/mM##8 %% 1.00{0.00 ~ 3.50 156.47|3m%x#%%(0.00 ~ 1.23| 3.58 18.09| 100kN/m#%#BZ% 1.00] 10.58 ~ 4495 156.47|3m%x# x5 30.00 ~ 44.95 3.58 18.09
s 1.00] 3.50 ~ 11.29 100.00f Z=h st | 1.23 ~ 11.29] 3.00 15.16 Lo 1.00] 5.00 ~ 10.58 100.00| Z=hList | 500 ~ 30.00f 3.00 15.16
17 100kN/m##B %% 1.00{0.00 ~ 3.01 147.84|3m%x#% %] 0.00 ~ 0.99| 3.44 17.37| 100kN/m#%#B 2% 1.00] 10.96 ~ 42.00 147.84|3m%x# 25| 40.00 ~ 42.00( 3.44 17.37
s 1.00] 3.01 ~ 10.79 100.00f Z=h st 10.99 ~ 10.79] 3.00 15.16 Lo 1.00] 5.00 ~ 10.96 100.00| =hList | 500 ~ 40.00| 3.00 15.16
18 100kN/ Mm% 5 -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&x#Z5 -~ = = =
zh st -l -~ = -| #hrist -~ = = = ZhLst = -~ = -| #hilst -~ = = =
19 100kN/ Mm% 5 -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
zh st -l -~ = -| #hrist -~ = = = ZhLst = -~ = -| #hilst -~ = = =
20 100kN/m##B %% 1.00]0.00 ~ 3.41 154.85|3m%x#%%(0.00 ~ 1.20[ 3.56 18.00| 100kN/m#%#BZ.% 1.00] 10.61 ~ 42.00 154.85|3m%x#x 5| 30.00 ~ 42.00[ 3.56 18.00
s 1.00{3.41 ~ 11.20 100.00f Z=h st |1.20 ~ 11.20] 3.00 15.16 Lo 1.00] 5.00 ~ 10.61 100.00| =hList | 500 ~ 30.00f 3.00 15.16
21 100kN/m##8 %% 1.00{ 0.00 ~ 3.76 161.01|3m%x# %% 0.00 ~ 147| 3.74 18.90| 100kN/m#%#BZ% 1.00] 10.57 ~ 42.00 161.01|3m%x# x5 25.00 ~ 42.00( 3.74 18.90
Lo 1.00{3.76 ~ 11.54 100.00f Z=hlst | 1.47 ~ 11.54] 3.00 15.16 Lot 1.00] 5.00 ~ 10.57 100.00| =hList | 500 ~ 25.00| 3.00 15.16
99 100kN/m##B %% 1.00{ 0.00 ~ 347 155.98|3m#%x##%%(0.00 ~ 0.34| 3.18 16.08| 100kN/m#%#BZ.% 1.00] 10.53 ~ 34.33 155.98| 3m%x# x5 25.00 ~ 34.33| 3.18 16.08
Zh st 1.00] 3.47 ~ 11.26 100.00f =1 A4t 1 0.34 ~ 11.26] 3.00 15.16 st 1.00] 5.00 ~ 10.53 100.00| =xlist | 500 ~ 25.00f 3.00 15.16
93 100kN/ Mm% X % 1.00{0.00 ~ 1.19 117.91|3m%x#%x%5(0.00 ~ 0.54 3.45 17.43] 100kN/ M%E#BZ 5 1.00] 17.28 ~ 24.90 117.91|3m%#8%%| 1500 ~ 24.90| 3.45 17.43
Zh Lt 1.00{1.19 ~ 8.97 100.00f =h A4t | 054 ~ 8.97| 3.00 15.16 st 1.00] 5.00 ~ 17.28 100.00| =Hxlist | 500 ~ 15.00| 3.00 15.16
94 100kN/ Mm% X % 1.00{0.00 ~ 1.93 129.72| 3m%#B 25 =1 ~ = = —| 100kN/mM%#BZ % 1.00] 11.52 ~ 18.90 129.72| 3m%EH#BZ 5 .l ~ - - =
Lt 1.0011.93 ~ 9.71 100.00f Z1ulA4t |0.00 ~ 9.71] 2.63 13.30 st 1.00] 5.00 ~ 11.52 100.00| =xlist | 500 ~ 18.90| 2.63 13.30
95 100kN/MZ#8 2 % -l -~ = -|3m%EiHBZ % -~ = = —| 100kN/m%#BZ % = -~ = —-|3m%iBx 5 o ~ = = =
st 1.00/0.00 ~ 6.80 86.05| =HnList 000 ~ 6.80| 1.57 7.91 st 1.00] 500 ~ 9.46 86.05| =nLst | 500 ~ 946| 1.57 7.91
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ zhs ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ Thst ~ ZhLst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ st ~ st ~
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